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53| 1R = RliBET | BlEchs 1 1 2 2 11 2 7 1 6 8 7 34| 41
52| 1R =E AEET | E&FR 1 1 2 8 2 8 7 6 23| 29
35|+ WL ®E 1 5 1 5 1 6 1 7 4 23| 27
48|+ 5% E i) H¥EF 2 7 2 8 4 15| 19
47| B AT 3 1 3 1 7 2 1 3 5 13 18
54| 1R = hiZiEhr | hiEE 1 7 1 8 2 15 17
37|+ B RN | BRIk 1 1 2 3 2 6 6 9| 15
29|+ B BILT | wLE— 1 6 1 6 2 12| 14
43|+ 5% BALAA | AL 1 8 1 4 2 12| 14
27|+ 8% S EET & 2 1 1 1 1 1 1 5 6 71 13
32|+ BIEm | BEEN 2 4 2 4 4 8l 12
42| 1B L HEHT 2 1 5 1 5 2 10| 12
57|B& ST $hik 1 2 1 2 5 5 6] 11
20| #L1% fLigd | EEm 1 4 1 3 2 7 9
39|+ L) JER 1 1 1 1 1 4 4 5 9
10| $IB% Fillh7: 58] g 1 1 4 2 4 6
44| 1B 4] ALm 1 1 1 1 2 4 2 6
12| #1138 g EHhE 1 2 1 1 2 3 5
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38|+ FE B HT = 1 1 1 2 1 3
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7|Fk=) | izar i 1 1 2 0 2
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30|+ B WwEm | BEEZ 1 1 2 0 2
46 |+ B B AIET AR 1 1 2 0 2
55(B & SR | EEE— 1 1 2 0 2
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34|+ B N AT 0 0 0
36|+ B Ltiglr | Lt 0 0 0
45|+ B B RIE 3] 0 0 0
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